HRAE 15 (58 2 ZRE91R)

il &l e E 3 A + % %
TetEedTr (£ 8 ) #f &2 & il
£ £ £ £ 1 1 £ =
i T s S TR wpze 3 1 TEBREEHELOREREGEL F6LX B
i T % AT 2 HiNSE
P OE M= = W O
FEMERE T JFHC (EEL - BOAER) A= 16,000  ni (8, 0000t x 4E2[E)
iR L (A1) L= 6.0 km¢eim)
ANSFRE T A= 4,000 m
P B E A= 4,000 m
Xl B LSy W= 11.0 t
gy V= 30.0 m3
= I ALE W= 500.0 kg
B ey W= 2.2 t
% H i T ) Epyd % EPACd g A
el T % M
ERICHTT AR UTRE AR
T * i & !
HIERERE T T MR
(ﬁ - M Y % M
nFJ //%\ {j% ﬁ H%E\
B WL OE ok BT A U E LR OEA e
PR T = LHEREETHME x FAatkER | }

3
>

F
%
=
i
&
=
%

% WO H L ¥ i




T =& &

TN

l

Xl

~

i (Y

7

NS

% 31—-40—-002—-H—006 % Fh BT REE
THEXs I MR | s | BAL 4 FH OB R
T8 R MEFT
1] X
R T
Y
18 PR T FRE 16, 000. 000  m2
‘ PUE VA 11.000 t
S = 3 B 500.000 Kg
78 X h%
[En 4,000.000 m2
T8 I L
Y
B g L B (B a0 - A7) 6.000 km
\ RSy 30.000  m3
S B LSy
R HERF T
Y
i N FEAE B E 4,000.000 m2
ES U 2.200 t
1] K
B LEgrat
1] K
Hamk e (KE )
Y
SRR At
Y
MTEE
1| =X
R
Y
TR
Y
— BT
Y
TS
1] X
B %8
1] K
HA L
Y

Fff




KT H H N R E
# 31—-40—-002—-H—-006 % Ef BT EEE
THEXs T fER] B B W & HALL B Al & FH i B
TH HEHERE
PR T
THRBREL T
BREL
16, 000. 000]  m2
Jii T. P
FEmR R (8 #h20) - 2R 5 B A SE 5450001 75 Ui 2%
ROH B OALE(F ), EimoeE (7 16,000. 000]  m2
V7 V90 Ghvn=b o5 4=t b 20, 807 by
JHEMEERIE (6. SkmEL ), 2 FH DR (2T
#J1)
XI| B AL S5
11.000[ t
R B ALy
11.000] t
= 3 ALER
500.000| Kg
= 3P
72 X % 500. 000 kg
SREL
4,000.000| m2
i TP
PREL #0002 4 Al 52
(ESA 0NN 4,000.000| m2
ERIER T
i TREE T
B s (BEH- A )
6.000 km
i TP
B s (BEE - A7) 70003 5-{ Al
EESRE (D7) 6.000|  km
sy
30.000| m3

Fff




KL HENW

% 31—40—-—002—H—-006 %

g]ljll
I

THXSy  THE flR) M S

% &

&

i

HAL HLifl

R Y
H LSy

30.000] m3

RERGHERS T

IR AT

.

FPRE B E

4, 000. 000 m2

A R (e AU E)

Jils TN (A, il THUSE (1000m2LL F), BE
R RO Ae IE () , TR VESEME (), fi T35
PR IE (LA X AR UE (B K O3S i@
) )

4, 000. 000 m2

550004 51l 5=

2. 200 t

2. 200 t

Samft (Rat L)

eSS G S i

T
Xz
T

AT

B B

THE B L4

Fff



KL HENW

g]ljll
I

# 31-40-002-H—-006 & Ehi LT EkE
Ty TR R MR SR S ETEEEY < fii 22
A TR

4 Fff



0001 =

(N(IES

Pt bR . R ) - B - A A

Wi TP (%1, 42%, 5798, 19%, £40. 39%, T70. 00%)

¥$31—40—002—H—006% 1. 000 m2 40
2T FEREE | B R HA b X HA A e
T NTwr [FArua—FK-F1—ENL]
2 LB Loto| % K1
FARE D #
T AEE25 5mm 0. 400 % K2
EEIEER
50.090] % R1
FREER
34.450] % R2
G
7.890 % R3
EEET (%)
2.990] % R4
B
to2w 0.390 % 71
(28 ¥4 B )
FE LA
ESLE ) AJE A% 7
Jo1 ROEFEDOH 1 HY
Joz2 TER AR R E 1 VAVYARVEYEC M-S Y P S A VAW )
Jos3 BT Ny ) IEE R 1 6. 5kmLL T
JO5 #HDOWNR 1 ATOEH
5 AR T




%0002 & R PREL
i TP (B0. 00%, 57100. 00%, £40. 00%, T70. 00%)

#31—40—002—H—006% 1. 000 m2 %0
AR REREEE | HAL R H X A e
HEIEER
81. 230 % R1
HER
17. 780 % R2
(e v Bt )
AR HLM
S ft4 AT E YNUE X
Jo1 VESETERE 3 ANTTBRE

6 Fff




%0003 & AR W T i (B JE 6 - AN D)
i TP (B0. 00%, 57100. 00%, £40. 00%, T70. 00%)

¥$31—40—002—H—006% 1. 000 km %40
2T FEREE | B R HA Hi X AT e
WIEIEER
99.010| % Rl
(R B )
FE B AT
G4 TR ANME INAER
Jo1 BEE 1 B

7 Fff




#0004 5 Ul A P (AR A RE)

J04  WHEWEEMIE
JOS5 it 355 T B4R I

#31—40—002—H—006% 100. 000 m2 %0
AN e BALT B e 2} i
B T HEREE THEEAE
A 9) 100.000| m 2
&t
HALY Y
Gt 26 AJIiE WNVAEZY i)
Jo1 i TNE 1 JERA
Jjoz2 i T 3 1000m2L4 +
JoO3 REF IO Al E 1 il
1 fiiis
1

B R (B0E R 02l )

8 ARG T



